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Geometry CC — Mr. Valentino Name
Unit 5 Lesson 6: CPCTC Date: Period:
Let's go over the proofs from Tuesday!
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5, Given: QT bisects SP. SP bisects QT
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Given: N is the midpoint of MO, LM=0P, and
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Prove: ALMN=APON
Prove: AQRP=ASRT
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Itis crucial to remember that k!ﬁ‘Fv(ﬂ you use CPCTC you must of prove that the

triangles in the question are r . Let's practice...
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Given: GH=KL, £G=«K, and GI=K]
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Prove: HI=LJ
. Prove: £SVT=£UTV
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Given: PR bisects ZQPS and LQRS. [

Prove: P_Q =PS

Yoy CPCTC

Statement Reason
1.

2. 2.

3. 3.

4. 4,

5 b

6. 6.




Untitled.notebook November 28, 2016

Write a 2-column proof to prove each of the following:

1. Given: ZN=¢£P, £M=,Q, and MO=QR 2. Given: AC=EF. and AB=E
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Prove: £0=£R
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3. Given: GH=]T, 2GH]=«IJH



